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#* {Lebug) In{121]:=
Array[ an, 100];
Array[anl, 100];
Array([ kh, 100];
Array[ kp, 100];
max = 100;
length = 8;
h = length/1000.;
For[n=1, n<max, n+=2,
an[n] =4./ (nPi);
anl[n] = 4. /Power[nPi, 2];
kp[n] = nPi/length;
kh[n] = kp[n] h;
1: :
(#Print[" an : ",an[1]," »,an[3]," ",an[5]]
Print[" anl : ",anl{l]," ",anl[3]," ",anl[5]]
Print[" kp : ",kp[1]," ",kp[3]," ",kp[5]]
Print[" kh : “,kh[1]," ",kh[3]," ",kh[5]]*)

pPlot[Sum[anl[i] #Cos[kp[i] #X] , (i, 1, 3, 2}}1+.5, {x, -8., 8.}]
Plot [Sum[anl[i] »Cos[kp[i] #x] , (i, 1, 1, 2}} +.5, {x, -8., 8.}]
Plot[Sum[anl[i]*Cos[kp[i]*x] , {1, 1, 25, 2}]1+.5, {x, -8., 8.}]

[NV ROIVITR P T Eg

_5 —_ * —
(Debug) Out{130]=

{Debug) Cut[131)=

g



HW QD 4f22/04

Y /tlvéc(éa

y, Yt Fw,«/}/y- served

Foin
: 0 o> — 4 &
/ (i = y SYm
we [0 £ (%) 77
4 =0
2
[ 2 ()
= £ H2
-l e 0TS
= 7/"'—"@‘5/
L /WV ,  “ . 2
= L"
L L
bn= 25 (4. ’/—Wl")
~ - -
L o
L naX
=4X g (07X +//[05(ﬁ W
sz B

-L
L
2 .
=/ —-L’]o&(mf) - L [os/-»ﬂ/ 7 __/: ,4‘5//; gy/
L* i h7 A h# 4- L.

)

\!

~2 ) . 2
= ﬁ()




sign = -1;

For[n=1l,n<max, n+=1,

sign = -1sign;

an[n] =sign2./ (nPi);
kp[n] = nPi/length;

kh[n] = kp[n] h;
1;

Plot[an[1] Sin[kp[1] x], {x, -8., 8.}]
Plot[Sum[an[i] »Sin[kp[i] #x] , {i,
Plot[Sum[an[i] #Sin[kp[i] #x] , {4,
Plot[Sum[an[i] »Sin[kp[i] *x] , {i,
Plot[Sum[an[i] «Sin[kp[i] »+x] , {4,
Plot[Sum[an[i] #Sin{kp[i] »x] , (i,
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